Correcting ToT's

LSR, 14 October, 2003

Correction depends projected angle along strip, 6,
and across strip, 0 4



Raw ToT, cosmic muons
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Raw ToT vs 6
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ToT/cos(8) vs 6

Corrected ToT vs Theta

Corrected ToT vs Theta
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ToT/cos(6) vs 6, with extra angle correction
and Cutoff

Angle-Corrected TaT [sat corr ] ws Theta
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Comparison of raw and corrected ToT's
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TOT vs. theta

Average of TOT distribution increases as theta increases (the
bigger the angle, the longer the path in the silicon).
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From Ronaldo Bellazzini




Dependence on 6, is more complicated

ToT vs Thetal
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Depends on 4 (")

ToTC3 vs Thetal, Theta>50
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Depends on number of strips

ToT vs Thetal (>3 strips)
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Four or more strips

ToT vs Thetal (>3 strips)

totdVsThet1

250~ ] ENtTiES 26645
i - Mean x 67.15
- Meany  39.89
- . |RMSx  9.549

i " |RMSY  34.26
b 0 0 00
E 0 (26645 o0
: 0 og

150 —

100 —

50 —

ﬂ_"" |||||||-|||||||||||-|||.||||;|'-|'.||..|.i.|“-|||';'.|'|

0 10 20 30

40 50 60 70 80 30

What are the hits at small angles?



Small 6, Lots of Strips
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And another
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Large 6,, Too few strips
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